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BOTANY (General)

Paper Code : V-A & B
[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : V-A
Full Marks : 16 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. Which of the following statement is correct ?
(A) DPD = OP-TP
(B) DPD = OP+WP
(C) DPD = WP-OP
(D) DPD = TP+OP

1 fasferie @ fgfefe ey @
(A) DPD = OP-TP
(B) DPD = OP+WP
(C) DPD = WP-OP
(D) DPD = TP+OP

2. The water potential of pure water is —
(A) Zero
(B) Less than zero
(C) More than zero, less than one

(D) More than one
3| Rem werm [eq ze1—
(A) *IU
(B) [« (AT T
(C) *[T (AT TG, ¢ (3) (AT (=6
D) &= (5) 9T AHF

Page: 3 of 13



3. Stomatal opening is affected by —
(A) Nitrogen concentration, Carbon dioxide concentration & light
(B) Carbondioxide concentration, temperature & light
(C) Nitrogen concentration, light & temperature

(D) Nitrogen concentration, Carbon dioxide concentration & temperature

©| YA TCAB 2eifFe 27 —
(A) TG ToTg, TG BIRSHZOH TG G SN Bl

(B) S TIZSHIZCCS TeTg, SNEl @R OI#NEl @it

(C) TGS FeTg, ST R SRl arl
(D) FRCEICSCAR Ty, TS GIROFABCCT qg G Olw{al 7l

4. If turgor pressure becomes equal to the wall pressure then,
(A) Water leaves the cell
(B) Water enters the cell
(C) No exchange of water takes place

(D) Solute goes from cell into water

8| I “HIfe Bivl, BT BITeid TN ZT T, ©F —
(A) @ (2tF T Wefe Z3

(B) (0¥ (TR A= WO
(C) GG (RICAT LRI Smle-2mley 2 1
(D) TR @M (AT 2T fofe 2@
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5. Name the first stable product in C, pathway
(A) PGA
(B) DHAP
(C) OAA
(D) PEP

¢! C,Tfema ¢ax FR (T9-4a7 TN H 2
(A) PGA
(B) DHAP
(C) OAA
(D) PEP

6. is a gaseous plant hormone.
(A) IBA
(B) Ethylene
(C) ABA
(D) NAA

Y| 251 @30 B 20 |
(A) IBA
(B) Zfafer
(C) ABA
(D) NAA

7. This is the precursor of [AA —
(A) Methionine

(B) Tryptophan
(C) Glycine

(D) Isopentynyl pyrophosphate
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9| 3 SIPITS Shbte (IAA)-9F siFal swig 2e1?
A) fufeefas
(B) T
(C) 2
(D) SN (AGIIES TG (IPP)

8. Which of the following hormone can replace vernalization ?
(A) Auxin
(B) Ethylene
(C) Gibberellin
(D) Cytokinins
v | NS (PN 290 vernalization® (F 2foEfre w09 #NCH 2
(A) O
(B) Zfafer
(©) ferrtafer
(D) ARG

9. When the dark period of short-day plants is interrupted by brief exposure of light,
then the plant

(A) Produces more flowers
(B) Will not bear any flowers
(C) Turns into a long day plant

(D) Produces flowers immediately
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(A) Q@M e B FAR

(B) T 4l T3 I
(C) W-frat Bfem welsfae 2@
(D) SRETCH FoT Teoi T

10. Which of the following pigment involved in red-far red light interconversion ?
(A) Cytochrome

(B) Lycopene
(C) Phytochrome
(D) Xanthophyll

so | [NHRIRS (FI9 g =1le1 € e 36 WGl ABLRATFIRAA-GF Al IS 2
(A) RO
(B) =ECRIfI
(C) FIRCOITE™
(D) iCEfeet

11. Name the coenzyme of riboflavin (B2) ?
(A) NAD or NADP
(B) FAD and FMN
(C) Coenzyme A
(D) Thiamine pyrophosphate
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>S | AREFITGT (B2) @F (Fl-G=&nigcsd w1 F 2
(A) NAD %12a1 NADP
(B) FAD @3 FMN
(C) F-aeizs A
(D) ARHE AlZTFCFs

12. Which of the following is a phospholipid ?
(A) Sterol
(B) Cholesterol
(C) Lecithin
(D) Steroid

vy | fsfefie @R wiwifae aa Suead
(A) G5
(B) (I
(C) cihifes
(D) oS

13. In glycolysis, cleavage of Fructose 1, 6-bisphosphate yields
(A) Two aldose sugars
(B) Two ketose sugars
(C) An aldose and a ketose sugar
(D) None of the above
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(A) ¥ SpleTCee =l
(B) 4fo fecbrer =i
(C) ¢ SETUT «R «JF0 FoS “=Fa
(D) €T (FICAMHE «

14. Which is a reducing sugar ?
(A) Galactose
(B) Gluconic acid
(C) Sucrose

(D) B-methyl galactosidase

58| (PG Rererss =& 2
(A) SIETICOIE
B) g wie
(©) ALare
(D) B-f=iZeT SlietiwCo! MECTS

15. During symbiotic nitrogen fixation, how many molecules of ATP are required to fix
one molecule of nitrogen ?
(A) 8
B) 16
© 5

(D) 10
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A 27 ?

A) v
B) >v
©) ¢
(D) >0

16. Important enzymes involved in nitrogen fixation are —
(A) Nitrogenase and hydrogenase
(B) Nitrogenase and hexokinase
(C) Nitrogenase and peptidase

(D) Nitrogenase and hydrolyase

SY | FEGITEH NI & @gall Trmaefey ze—

(A) TGRS ¢ FEgfEtTs

(B) MRGIfETE ¢ (RIS

(C) TG 8 (o7biEres

(D) TiEGIfETTs ¢ RGeS
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P-1I (1+1+1) G /20 (N) SUP
2020

BOTANY (General)
Paper Code : V-B
[New Syllabus]
(Supplementary)
Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.
Group - A

1. Answer any one of the following questions : 9x1=9

(a) Discuss the ‘Z Scheme’ of light reaction in photosynthesis with diagram. Site
the difference between cyclic and non-cyclic photophosphorylation. 6+3

(b) Name two synthetic Auxin. Explain the important physiological role of
Gibberellin in seed germination by the synthesis of alpha amylase along with

the word diagram. 2+7
2. Answer any two of the following questions : 4x2=8
(a) Write a short note 242=4

(1) Red drop
(i) Emerson effect

(b) What do you mean by scotoactive stomata? Why C, plants are more efficient
in photosynthesis than C; plant ? 1+3

(c) What is Turgor pressure? In which case the value of DPD will be zero?
Compare between Osmotic pressure and Osmotic potential. 1+1+2

(d) What is florigen ? What is vernalin ? Write down its importance of
vernalization. 1+2
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Group - B

3. Answer any one of the following questions : 9x1=9

(a) Define glycolysis ? Why Krebs cycle is also known as TCA cycle ? Describe
Krebs cycle with suitable word diagram mentioning relevant enzymes involved

in major steps. 1+1+7

(b) Write down the importance of pharmacognosy in modern science. 9

4. Answer any two of the following questions : 4x2=8
(a) What is Co-factor ? Write a short note on enzyme inhibition. 1+3

(b) What is Exergonic Reaction ? Write a short note on van der Waals’
interactions. 1+3

(c) Briefly define the following steps of nitrogen cycle along with suitable reactions
and examples : 2+2

(1) Nitrification
(i) Denitrification

(d) Write down the source, chemical nature and use of any one of the following :

(i) Quinin
(i) Catechin 1+1+2
et -5
s | fasfafie 2 St @It @6 240iF Ted Tl ¢ SXS=5

(F) AEAFTATHED NCERHNT Z-F35 212 Darz@ite Seana I bFiF Gl
SHFIPT FOIFACFIRARET-GT N 22y fSmeiel 6 | ute

(¥) 7o Ffaw wfm A @74 | Rl Wfmgern o RrE o sy
TR TROCH AT SFEAMA-GF siwfo F2Aa AR I I *+4
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3| fosferie @i ¥ 2eiw Teq e ¢ 8x3=tr

() R Bl (e 3+3=8
() e pfe

(ii) GNP 2SI
(¥) COIErnRhe CERIE Tere & @Rl 2 C, Sfema ARy el C, Sien
S SIS @R 2eTE e [ 2 S+
(o) “Fre Biol f&F 2 Fisia RS Biot (DPD)-9F S o) I 20 ? ST Biol @R
wfowqe Rea ey (12 meie St | S+
(@) e 52 ©ifife 2 “Vernalization’- 93 &g (574 | S+

et - ¢

o | fRIRe @I @3 a4t Ted wie ¢ SXS=d

() ARCARAER A WG | (7] 5&(F TCA b&F (F o1l = 2 Mg A=A
G @gslel AItel feTe) AL SEIHCR AN STA ICH (T b-GF I 7S |

S+o+4
(%) s @It pharmacognosy-dd @=Pg Ief 4 | S
8 | fasferie (ACICT ¥ 2ives Ted w6 ¢ 8x 3=t
(F) I-FFT FICF T2 ‘Enzyme inhibition’- @ 857 G TR @74 | S+9
(4) ‘Exergonic’ R SIF 05T ? ‘van der Waals® interactions’ @ S9J B T |
5+
(7)) ToRe RiG ¢ Tuiggepe AREITeH S Swsfs e gio 4ieaw ke
e | S+
(i) TRGfRrCereT
(i) TomiEGRreFa

(@) fasfeike @ @ aoba TeHA, ITEF 4 € JIZF TE I S+HS+R

() =T (i) IR
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